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pD ("3,3/‘3), 00 (5)5’)3) and Ka(‘h’)z)

m= (§+3);+($’5)).4—(3+3)K [) o 22x + 2y — 30z
= 3+ 2, +bu T 22(-3) +2(2)—30(-7)
= 30
PT: = (u3)i + (1-3)) + (2+3)K
= T -2 + sk N 22X + 2y— 302 = 30
mox?’o—ﬂi= Vodox 2(M+y-1s52) = 30
? 2 6 z A
7 -2 5

Ny + y- 152 = s
= 0 (j0+12) =) (o-y2) + (-1- )k
= 22 + Zjozom

fird 4l equation for b | plane 4hcovgb

Po (-6, -2) L 4o 4le Jline

Xz 1+¢€ , y= —é—l-lé)z:-zé -0 et & 2 )= X — Uy -2z
D= ) +24 + 4y

2q /

A(x-x)+ B(y-vo) + C(z-20) =0 X=Yy-2z =29

kv )

1]

\
£
~

[}

)

N

1))

nN= 1 = U -2k  then A=1

\

1(x=1) = 4(yte) —2(z +2)

_2z_(_' - (o) /

X=1 = Yy-2y =

X=-Uy -2z = [ +24y4+q

Find e distance Fiom |4l point 4o 4lo |line
P(~Y,8,1) . X= -—ytat, y= &+5t, 22,

S("V/gll) and e X= —‘If‘lf, y= ?1’!“’, 2z=)

Now, )3?'-' ““I*‘I);+(8—8))'+(l-l),< = O+ o0j +k

/

Vector a/ony e grven lire 5 : V= 9/ +55+ 0¥

—
Wow, PS x J = D



Find | HeTdistance prom de pornt Fo HL Tine

(1.-4,-2) X=-2-2% y=-2+4t,  z3 Y4+t

Ahe pointdo dhe e x=-3-2%, yz -24ut, Zz= 4+t

;S ((_3/—21'4)'

2valvate p?: (-1+3)i + (—4/+2)J’ + (-2—4)«

= 2j—2j—Gk
U= -2 +4 +k
- —) .
Find |F_§)x§ﬂ S xV = iy e
2 -2 -6
-2y

= i(-—z+zﬂ-}(z-—uz)+l§(8—‘/)
= 220 4+10) 4 yK

18«31 = Jz22+ 024 y2
= Voo = 10Ve
(71 = V(2 y2h®
= Vz
distance = 10 VG
d= I.béx\7| \f_z—|
9]
= 1ovize
2(

Fivd 1+ dictance d,

ard 4be| planc
B .
N = 5 4+ 7)' + K

. = .
do| prnd [Ps| vre (x-lindrcet

Le 4+ V:O 2=0.
Yo = Bx+ 7y + 12
Yo = s3x

x = ¢ fns,  (8,0,0) 1S a pont on the planc.

PS= (5-8)1 +(3-0)j + (-0)K
—3) + &) + bk

d= | -3(s) +3(7) +C(1) d= |#-70_
VsZirie 171

bedwien +he Pol'mP (5/ 8,6)
Bx+ 7y + 12z = Yo.

Frod +d|dicrance d,| bedwren | +he pont S(Y,3,1)
ard 4 | plane Ix + Ty + 72z = @ .

AT i FTjETH

. - .
do find PSS vse X-indrcepd |

Le 4+ y:O 2=0.
b = 1x +7y +7 2z
b = 1x
X = @ bos, (6,00) s a pont on ke planc.

PS= (y-0)i + (3-0); + (h-0)k
-2/ +3) +1kK

|>L

-2(9) + 3(0) + 1(7) 7% -

V)2 +7%¢7°

1%

—_—

i |-




= 47 @ s. 43 = 26 X z2. (0‘
V75 ¥99
cnd | L angle | bebween | Han plames fnd| Ll | anglh|  bebeen Hon | planes
GX +Sy = - Il and 23X+ 3y=-S5 and Q9qx+Sy+Sz = (S
@Qx +5y = -1l @ x4+ 3y= -5
@ 3x +ey+22= -3 @ 9x+Sy+Sz = (S
M (veekis nerma plans | © and @ o Y veckois normal plans (© and @ et
Az bi+S) A Bit 3y
. > . .
= it by +2K = Qi+sS)+ 5k
.l-lu angle bLedwmeen Heu planes is dagind .’.k angle bedween Hu plarey is \degined

by He |angl Letevten Joir| normalls

by | onpl (beterren Mon nesrmals

8= cas"[/'?/- ~ &< cos' [ A1 ™
120 17 120 17
= 005—'( (i +57) - (Bie 6jr2k) = o5 [(2i43)):(9% 5] +5¢)
\‘(nzi-Sz \‘32-}’624-27‘ \ W \‘97__'.‘-:+s-:.
= cos"( I3 +30 1 0 = o' [ 27415
Yei {uq \ V12 {13
= coS"( yg ) ~ 0.499 = cps’ Y2 ~ 0.527
T7.800 - 7 \ Y.243 - 1.yss
F(md -‘/lln po_\f\\'l P, al u)l/ll-ab' 'H/" 'I;LL ;/P)UF(L-“' J—Lﬂ P!‘\""
K= 10'3f) y:-—lb'rq{:) 2:- -ID+St, -—ZX-PZ)'-sz = 1.
L2 %= 10-3t, y= - +9t, 2: -0+t
P: -—3x+27+gz =l6.

-23(10-24) + 2(-0+at) + 3 (-1o+st) = Je

= -20+9t - 12+18t - 80 +yot =l
= 9¢ + 18t + yot = (64 30 + 12 + 80O
07t = 138
t= ¢
7y
138 38
X= 10-3(27) y= —6-}9(’6—';78 Z’:-—IO*S(%;
2s¢ | 4w | 20
e7 ©7 o7



= Homework: hw2 «

Question 38, 12563  ,  HW Score: 92.08%
O Points: 0 of 1
Find a Parametrization of the line in which the planes x + 2y-27=3 and 3x+ +3y-3z=3intersect,

36.83 of 40 points

Find the Parametrization of the line. Use a point with z = 0 on the line to determine

@ the parametrization.
x=[ | y= H= =[] -eo<t<o

Xtdy-27 =2 ()
5x+55'*32:5“(&>
A N A

— A ,'\-32
V\&=3i+35 A T A A /*\4 g
ME K\;a 2 3ol 8 s
-~ EEN L 6_5
n, = A (Q CQ,
~b_ A

X
FyXing = [@%) Ms)&)—[%) DT} T (98]
—(—a fé)) —( S’r(o)(; +(3-6)K
= Ol —$A SK m
¥ Tofd o poid on ¥ &mz) Wil substlofe  2=0 Tty plone Z,gua//)a«n?dl Sobe .
Xt %0—5*'() > X t2y=3 > X33 5 X=3-2R)
427

X=3-¢

x=-L

5x+<53~5% 3-- ()= 3){533 5*33 1= =
1-Gy +34=23

6 =3

ew3=%i;é;

oo Yo poific P(-1,4,0)

N
% V-Mafia = 0f -3)-3%
-Atot = -1 \E k2t

=a-3t




= Homework: hw2 < Question 39, 12.5.67
Part 1 of 2

HW Score: 94.58%, 37.83 of 40 points © 2
O Points: 0 of 1 Save

| Use the standard parametrization of a line through a point parallel to a vector to generate a parametrization of the line through P, (6, - 4,1) parallel to 6i-j+k.

AL i i 4
generate another parametrization of the line using the point P,(~ 6, -2, - 1) and the vector v, = - 3i+ _j- ~k

Find the parametrization using P, and v,.

x=["]. y=D.z=D. -co<t<oo
(Type expressions using t as the variable.)

Na V
go,zo VA 2 2

B8 T-edjed = L

Pal6,-3,-0)  Va= -3\ +0.5)- 05K = A &
Xolao,i),o VA Vo Va

*mpmmdm(’/ Ui‘f B,La&ne i p(Xo,Jo,‘Za & /1 V- Vil+'2J+V37€
'S 8~m \Da
X= %o vty
240 t+ tVa
é&-’z’&?'} N3

= Nt SF %= 646t %
—_— 92_4__11: 0%, 3=_4
2=4 +1t z=4
= ud Sof %=—6-35 %= ~6-3¢
— gz’a+0'5S o 3-;-&-’-%3
2=-A-05%

HW Score: 97.08%, 38.83 of 40 points
O Points: 0 of 1

Since the E\ product of the vector parallel to the given line and the normal vector of the given plane is D the line [:i} parallel to the plane.

N
é)rvm W b :C N:w ~N

Ligs %=-L- :zt = -Avot 2= -at ---4)
Plare 3 5&)01— % -- (9

The vcto VL (8); a] F1 +AL
&Ihvtfow// Vo F{{M'L )i —-él\ +(03‘—,;12

Now, NeV = (2D + W)+ (N3
-4 ¥o-2 =0
AL POMM v
%



Find g parametrization ¢or |t [y j‘(qml—n"‘ fol'n'

Ll porats p('-)-,(),]) pod @ {O, a'. 0 )

Diow  (coordinedt axes ard | Sketch fod| Seqrend

indicating | He  dizghion pe increaring £ |for

P(3.0P A(o,},0)

(0-3F)k

Y]
(7
«
—_
(<]
\
—_—
o
=
-
+

3o+

(300 / to PQ= -+ +3j- 3«

Xz F 4+ 403 y= 0+4(3}) 2= 3 +4(-3)
X= q- —4"{ = J—‘f z= F-91
ak 4+=p0 | line pasfes | Ypough | (3, 0,7
ak L=l } bae |parres Hwough | Q (0, % G
Ehrectfore, = J-t,y= Ft,z= F-H o0 ¢ ~ =1 4= )
%20
g =0 y=% 4=
/
~ -
e




